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~ {nstructions for Candidates

e

' {. Write your Roll No. on the top immediately on receipt of this question paper.
. 2. Attempt all questions.

~ 3. All questions carry equal marks.

4 Use of simple calculator is allowed.

5. Show your working clearly. - i
6. Answ;ars may be written ci"t‘hé; in English or Hindi; but the same medium should

be used throughout the paper. -
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A group of 10 skilled and 20 unskilled workers are expected to produce 400 kg
of chemical BXT in 8§ hours a day. The standard hourly wage rate was fixed at
Rs. 25 for skilled worker and Rs. 15 for unskilled worker. Actually a group of
15 skilled and 10 unskilled workers were deployed and paid for 8 hour a day
at an hourly rate of Rs. 22 and Rs. 18 respectively. 2 hours were wasted for the
entire group due to power failure and only 300 Kg of chemical BXT was
produced. Required to compute :—

(i) Labor cost variance

(i) Labor Rate variance

(i) Idle time variance

(iv) Labor efficiency variance
(v) Labor mix variance

(vi) Labor yield variance : (15)

OR
Calculate overhead budget, volume, capacity, cost and efficiency variances from
the following given data
- Standard Hours allowed for Production 4000
- Actual hours taken for Production 4130

- Budgeted overheéds on 4000 st

- Recovered overhead
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- Direct Material LTI Rs.

- Direct wages 8280

| ; 11160
- Variable and other manufacturing expenses

3960
- Total Fixed €xpenses irrespective of

Capacity utilization 600

0
Expected selling price in the domestic market is Rs. 2 per unit. Recently the
;.nanufacturc?r has received a trade enquiry from an overseas organization interested
i purchasing 6000 units at a price of Rs. 1.45 per unit. As a professional

management accountant, Whatwould you suggest regarding the acceptance or
rejection of the offer 2 Sup

port your suggestion with suitable quantitative
information. ' :

(15)
OR

The following particulars are taken from the records of the company engaged in
manufacturing two products “A” and “ B”.

Particulars Product A Product B
~ (per unit) (per unit)
Rs. Rs.
Sales 2,500 5,000
Material cost (Rs. 50 per Kg) 500 1,250
Direct Labor) Rs. 30 per hour) - 750 1,500
500

Variable overhead 250

Total Fixed Overhead

Comment on profitab

6)
(i) Total sales in va
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(i) Raw material is in short supply.

(iii) Production capacity is the limiting factor.
(iv) Total availability of raw material is 20,000 Kg and maXimum
of each product is 1000 units, find the product mix (o yiely Salof

: the

profits.
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A producer installed a machine which can produce Product “A” as well as Product
«B”. Annual maximum machine running capacity is 4000 hours. Cost details about
the products are as follows oo

R Product A  Product B

Particulars Tt e
e -‘:.‘: Rs. RS‘
Selling price per unit 50 20
30 P

Variable cost per unit

Machine hours required per unit of the product 10 hours 2 hours

Annual demand 3OO units 1000 units

Total Fixed Cost : Rs. 10,000

Calculate optimum product mix showing annual contribution and profit. Give
ion. Also show that a product mix other than that suggested by
‘ (15)

necessary explanat
you will affect the profits.

OR

Preparc a Cash budget for the m ly 2016 on the basis

of following information.
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Months | Credit T Credit Wagcs/ Manufacturing | Office S_e_fh?l;“ |
Sales | Purchases | Expenses | Expenses | Expenses 4
(Rs) (Rs.) (Rs.) (Rs) (Rs.) (Rs)
March | 60,000 | 36,000 | 9,000 4000 | 2,000 4,000 |
apil | 62,000 | 38,000 | 8,000 3000 | 1,500 5,000
May 65,000 | 33,000 | 10,000 4,500 | 2,500 43&?
Jwme | 58,000 | 35000 | 8500 3,500 2,000 3,500 |
hily 56,000 | 39,000 | 9,500 4,000 1,000 4500
August | 60,000 | 34,000 | 8,000 3,000 1,500 4.500

(/ii) Cash Balance on 1 May 2016 : Rs. 8000.

(iif) Plant costing Rs. 16,000 is due for deliver}; in July 2016, payable 10% on
delivery and balance after 3 months.

(iv) Advance tax of Rs. 8000 each is payable in March and June.

(v) Period of credit allowed (i) by suppliers is 2 months and (ii) to customers

I month.
(vi) Lag in payment of manufacturing expenses % month.
(vii) Lag in payment of office and selling expenses 1 moiith. (15)
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60,000

62,000 1,500 | 5,000
65,000 2,500 | 4,500
58,000 2,000 | 3,500

56,000 | 39,00 1,000 | 4,500

RIS 60,000 1,500 4,500

(i) 16000 T A R AR WA i TR e
R W AW 3 ME AR AL
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2 ITPEE ) = - 9
3 (’3‘;} What are the basic principles of Responsibility Accounting (5)
/

(b) XYZ supplies you the following data for the year ending 31 Decembe,

2014
Production 1100 units
__-‘-—"-h
Sales 1000 units
3 e
There was no opening stock
R i 3 iy o —
Variable manufacturing cost per unit SeE s, 7
Fixed manufacturing overhead (Total) s EaRs. 2200

Variable selling and administrative overhead per unit | Rs.0.50

Fixed selling and administration overhead ( Total) Rs. 400
Selling Price per unit Rs. 15
Prepare

(i) Income statement under variable costing.
(if) Income statement under absorption costing.

(1ii) Explain the difference in profit under variable and absorption costing,
if any. | ' el (10)

| OR
(a) Explain the nature and si gnificance of
(i) Cost Centre
(i) Revenue Centre

(i) Profit Centre

(b) Diamond 1
Produc' X ik
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In a month of 27 days

of 8 ho .
Were produced. The 5 UL each, 1200 unit of X and 750 units of Y

‘mploys 75 men in the department producing these

udgeted he
following : 2 )i hOI_.lr$ s l'$6>000 per year. Calculate the

() Activity Ratio

() Capacity Ratio

' (5)
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